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PART A (46 MARKS)

Attempt all questions in this section
I. (a) Complete the following nuclear transformation reactions. (3 marks)

() 25Pu+in > 8 5%1 Nd+_‘t¢"/

(i) *$2Cm + %He — : C£ v %5
(i) 2BU+in - BLa+3in+ ;&

(b) Francium isotope (?23Fr) emits beta particles at a rate of 14.0 counts per

second. The rate of emission decreased by 6.5 counts per second in 80 seconds.

M\ Calculate the half life of the isotope. (2 Y2 marks)
n [,m (./) g p
v M AO 140 Counks S~

/""“"\__‘

N, - st <L Wy ¢ Wf’ X
4% NL/);>\t A = (4 \65)—75@@%53 At:A»é’.’)&/

¢ (,L; ) Méts iﬁ ~(n80) f/ In 0.536 = ~80A 3

S = {M#a) N 77?5X16'§is’
-E_g:: %Luzl/?/

AR -t& . ol = %
2. The thermochemical dét?f'%}sz?ne process are given in the table below.

Process AH? (Kjmol™?)

Rby —— 3 Rbgy +78

Rbg ————» Rbfyte +402

Fag) » 2Fp +160

Rb'g+Fg ——> RbFg -762

Fog + 2Rb —*2RbF(y -1104
© 2022 Jinja Joint Examinations Board Turn over
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(i)  Use the above data to calculate the first electron affinity of fluorine.
_(3.maotks)

Bt 2RO i > ZRbY, Giw[;(u (';-‘»J,/Hjll-.; |

o toiihoud hr
Hleo st) "/ lc'.reJL'. (__"Jrlu /.?,‘ )(.,: " |
o ll o8 i
Zf'— 2Rh, Scla) From Hesd faus
¢ 2 "/C)/"f() lf/\tl(')f’
féA i 2('5@ Y1 2(-20) &
oREL EA = "_ZQQ » “]5/() Lsend)

(2 2R \ s

(i) The first electron affinity of oxygen is 142K Jmol"! whereas the su.oml
clectron affinity is +791 KJmol'. Expl

(Le'jlr&t electon ackled to d&% oeold OXVG alom

UQF.Y)QOLLS Q P@U_v nuc_leav aC’lllDfl JAM rcfu/ﬁum

@qm the @QLG}&% elec 5";[;7% |t E/-\ o @)(f)//)(JIYﬂl(
o)

%Bu,ewu on acHidion o Second electnm to //w DAY
‘ch,_(_@Ql t/u_ elec acMocﬂ ewcpeacmws a CLH’L;/Q/ |

repulsm , The negahue ch than nucloor Hdd
Thuo en overeove the w/w/c.maH‘

3 3“%&, Lquano‘)gs to show how tfuL:) —‘ol’fowm’gcwn@e% ofié ¢an be effected.

(2 marks)
@ - COCH: @,cﬂmcu
k‘w)/

ain this observation. (2 marks) !

4 !

ook W)ﬂ%.p,

i 2k
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(i) CH:CHO to CH;CH=CH:

Qﬁ
,cgécupH ' ’fﬁ‘iﬁé‘i%k’

l«j@& Nl W cHHCHOH

*‘*—C’:’C’*ﬁu{; T T /m&w %«9
C&CH fgv

CHLC&X KDH : HC——CH queoaé%ﬁa%u,

4 (a) Write equahon for the reaction between p
hydrox1de solution. 1Y marks) V’

. fot 3Naop/@{)r 30— P %N@ B

P{:B%L\p(lj 4F, 'i*SNq@H@ TBHO——ﬁ PH +8N¢H /DO

(b) Compound G, contains 56 4% phosphorus the rest bemg oxygen.

(i) Calculate the molecular formula of G

(molar mass of G is 110) (3 % marks)

/?fowﬂw 100— bt = 43

N \ O .

9 3@& b ar
2| | Ll
[ 219 2728 A7

L LB e Y 2 NS L
% 199 [-¥19

( r " l S ) xR
, g e
: mpurbcgl i i E
. G O)wmo Bj, i
Con ki =l = 10, =/
‘ 1 s Yiplocu W&f a’f”” et ROV -
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(i) Write equation for :
equation for the reaction between G and water. (1 %2 marks)

R0, 2HQ—20,P0 & (B

(ffq,)

5. (a) Define the term solvent extraction,

¢ farhal removal of def}ag@
@Lﬂw w Which 16 mz@h@,@;ﬁﬂ@iﬁﬁiﬁ%

CH, Solwenh bovug tmmieild > b cach ol /@

ot — e
Eiuw Mans v’ramo[{w w’“C’/?,

a

Ine urwﬂw
; \

(b)  An aqueous solution containg 10g of hydroxybenzene per ¢ litre. When

10201113 of this solution is shaken with ZOan of ether, the ]ayehr—;xtracts 0.8g of

hydroxybenzene. Caleulate the mass of hydrobenzene extracted when 500cm?

of aqueous layer was slmken wllh 50om? of ether. 3 Vz:narks)

uu ¢ (M'Llw F w) ﬂIM ﬁ)r g Otfﬂ
iﬁ (.DC' Cm (wn 3 %ZMMM%
bamesa. lnd’l» i Waﬁr =1—0.8=0-25

p{m‘
(f@-mjpm\ ﬁxﬁ 20040 M
LJ bhe ’LL@T ngdly/% 'JCM/
ﬂ

5
IM& = 52X
50
(c) State one other apphcat:ox{o/#it}yaamtlon la;v E 32 mark)

U\/\ onchamg C’}”“P" oy Correct app)

Chvomats
= b@,[am m % Q Comphn

[Zf_a Coulrzll
lz ; m&qf L wm &
© 20 JlaJIE r’cr rmpy
'{i‘i' 4:5? . ,Q j maminmfo s Board f f@; ;:(Z{, ;

z(/m‘W[ —“K‘MC

h—Q-s«lW ézquq”/‘é{,” — '{2"'[ Ke ’# o | B
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0. (a) Nylon 6,6 is formed by reacting 1,6-diamino hexane and hexane-1,6-dioic

acid,
(i)  Write equation for formagion of nylpn-6,6. (1 markjy
NHLNCCH, ) NH, +nl 40@@1&) EOIHﬂCCHL)éM]—@@&)

4'? n= l\
Deuwyy withaet u.li‘ﬁ.

(ii) ~ State the type of polymerization mvolved in the formation of nylon-

. (1 mark)
Condeﬂsch/:boﬂ {oolﬂ mem.(d‘/ 100
,oﬂ-' CurdenSQ‘hoqff_gg

(b) (i) The osmotic pressure of a solution containing 2gdm™ of nylon 6,6 at
25°% was 20308 NM?2,

Calculate the relative molecular mass of nylon 0,6,

M = 1ot (:)_C\'/:,.M—' Q’T" H/

(2 Y%

'()M = 1 M,{ l/
e ,Wu 20208 X | XIS " = 2 X BlEX 29¢
- b M, =241 \/
a0 D
ot A ) o mﬂtw‘lﬂ@

(ii)  State one use of nylon GL ?

= ‘I:./lﬂﬁ /Masfm'/tv nek H’
o Swf‘t"leblouﬂo

pa C.(_u/ T

e = Under aqmmels g iéah,éms Ogéwc)

b

( Y2 mark)

—

 “’“ j%o
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7. (ir) WFII({
U
[uation for ¢ ululnm/u d/ )];;, ,;,,;. in water, | ¥ marks)

.0, (e ’U m% i

4'%)

(b) The conductivity of 4 saturated solution of silver phosphate a1 257

2 o) of
061 % 10%sem! and that of pure water is 1.519 % 10%cem™, Caloulze the

solubility of silver phosphate at 25¢

¢, (The molar jonic conductivities of silver
iong ¢

and phogphate iong at infinite dilution at 25% are 6] 9 and 2408cm?*mol
res puhvdy)

{0 fL M g CmgﬂM qrno(;z/z,jmdrV)
_/L*-'/oa

/ KM!Q"“ l:flkll Vo oeu”
o qca.ff 240 = 42 et

S C = lovor L2 Re z/f/

T

4’4‘?'7 -
= 268 X5 w%’

8. Although Boron is in group IIT of t]lé periodic table, it resembles silicon which
is in group IV in some of its properties.

(a) (i) State thr c propox‘lica in which boron resembles silicon. (3 marks)
h e w

m’) reac ygen when /‘)eaiﬁs, ﬂ@aﬂ\}ova[gﬂ acdic

O‘zCl des A, 6 wﬁwnﬁ Sl,li(/(.h/l OfYﬂ/)

P \/ol.cLH {e dr( Dlovdder BCL

QLC Y
s S
ora
lec ¥ reason for & m’]ous behavxor of boro mar
Bomﬂ . w ﬁowne (Smileyr 0/%.00! m.viuﬁ
Silicon ok Fhoune neo Seme Lonic rad

0o BT aud St Wy loug necartu jaw@_@zrmée )&Wd’m‘lg

b @mﬂ (LWV-) Q 2)2;%’ Jo&%ﬁatﬁn&%’r&wﬂ 4{/* Tg?m” )’)PGQ"L' ) 5 !IL

é)f m{% Ay nwa/l\_,, o Sarms \Vluos Gfﬁ'gj v Ma{m

Scanned by CamScanner



8

- yvater. Write equation
(b) State conditions for the reaction between silicon and ¥

for the reaction. // . i
Condition ,
S«L@zm",/‘v-:! hoott //1_(2124‘?1} 21 [

Equation

S -t—2H>~ ————'—? 9 Q | 2/‘/3@)%
*J%j (s[fn wn H,, HLD”

9. The molecular formula of compound R, is CsH0. R but

flame and forms a yellow precipitate with 2,4~ dinitrophenylhydr

(a) Write the stru ral formulae of all the pOSSIblc | 09101‘9 of R. (1 mark)

(b)R reacted with tollen’s reagent on warming to form u ullvcr mirror.

(1% marks)

\1g with a luminous

azine solution.

(i)  Identify R. ( V2 mark)
U / zﬂwu felhanat
C/CO’( (ii)  Write equations to show how R can be aynlhealfu | {tpp an alkene.

l/ N{ H\Bﬁ marks) L
Lq, @/CPF ——@ D ‘Cq ,‘ WC M‘i@f@”

10. (a) Deﬁnethetermazeotrope e (ke W

A'Z@HJ{LO- o Q I K"L«ML M(SCL.MQ. [omFDn%-’s 002\70(

I’W\W/jmvzz} aovw}lo_il o Lol

iy Oh. AQD”{M’ s Lons bzt
Rifo ot o ol oo g of
(b)(i) State three reasor% wvlv;/z-azeotro e 1s & mixture and no a compound Iﬁ'

; Cmp%rhm W’M Vorizs it 4 (1 % marks)
. Aw L A&Q,@W /“M

CJ’@WWCDW e Capigmians

© 2022 Jinja Joint Examinations Board Turn over
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(i)  Name two methods for separating azeotropic mixtures into pure

components. ‘/l/ (1 mark)
v~ Selvent exfyp. -
— fd sovphoy L] thrmetgrply
V%Mlu;ggégmMMome
n 4 P ( | ‘
(c) The‘ﬁt&%m b%‘aas,sures ol a mixt%feag?ﬁo%%e%ﬁsd%fcﬁlg}é%n%% )

and the mole fraction of trichloromethane at constant temperature are given
in the table below.

Mole fraction of HCCl; | 0.0 0.2 0.4 0.6 0.8 1.0

Total vapour pressure

of mixture (mmHg) 347 1305 267 | 244 256 | 293

(i)  Plot a graph of total vapour pressure of the mixture against the mole

fractions of trichloromethane. (3 marks)

lee W OVP/Vluf _
Ao Y medl @ Uehells) whth DK = of
; P[OHS% Lorredt /)omg QM,M% = 1]

Shae (Goveedon ) fuotlines oo
| _J J=ot
R

© 2022 Jinja Joint Examtinations Board Turn over
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(i)  Use the graph you have drawn to determine the composition of the

azeotrope. (1 mark)

s araph , e agechoR Cavtaiuo
0 L5 ndla. Jﬂu’um LH% PN 0114 wJ&fmJ
WW L~ peioph +p. e

(d) State how the mixture ln (¢) deviates from raoults law.
Give a reason for your answer, {2 marks

The. : ) o3 afne.
%u/mmmhbk neget ng“ww/”"

o Im...umw&_ d‘j@ )
G, R e e sl 1)
! W/am(é? ‘ %Uécocé' b %

Q<> ﬁh‘(_é
o Sl ( Lryllxum and :nup,ncslum are some ofthe elements in group II ofthc per:odlc 5 ]fﬁo

= \/QPVV./ table

(a) Write the equatlon for ténction' between water and the carbide of;

%‘” () Beryllum (1 % marks)
B%C 1 ZIHLD'U’—’? BQ’CD[VLL\_S + & o
(i) Magnestum (1 ¥ marks) \/X
Mo, &, D, QMf)CD/%l‘& + ]

(b) A sample of nitrogen gas completely reacted with heated magnesium to
product E. E reacted with water and all the ammonia gas produced was
absorbed in 50cm3 of 0.05M sulphuric acid. 12.5cm3 of 0.1M sodium

© 2022 Jinja Joint Examinations Board . Turn over ; 3 i
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hydroxid
€ solution wag required to completely neutralize the remaining
acid. Write €quation for the reaction between;

(i) Nitrogen gas and magnesium, (1 mark)
B, + N Mg N
ks b N
(i)  E and water., (1 ¥ marks)

/\/53/\/ + QLLQ;———ag /vzﬁ(o;,tj + 2/\/#&

(c) Calculate the volume of nitrogen gas at s.t.p that reacted with

Mb()a AA%}?“"MD Lilh encom KQ@ z/1.{x0o. 94ﬁmgk20‘fte/
oDl 7 Mk SD A 2 /:rﬂ‘v e
‘ mJbb g /ﬁX huwzd /f x O, Do/u 0.500625
: /mz/)aﬂ rfle U% /;/{SQ* éD@Dm = @-56‘21 /
o s vpr /LSQ, }—é_m,élq:) Q@%g’ "D, awéof
oolee v 0 = wo DD,@(_, 0. 50878,

mls 174 x 0,0037€ = 4,
=) omplete the folIo g equatiéns and in each case, ougt,lmgt%(e r%clﬁr{;m for
F{"a the reaction leading to formatlon of major product.
R4 / 6215 X! CH,

‘ o - HBr
2";"“ | 1
| Ve . |
: : Zik :
e L
(b) (CH;);CCl EtO /EtOH

i
Yweld:

(3 marks)

N

7
»
»

czgg,_dﬁ_
@(@chzlﬁﬁg ‘ @g)’\,}g“—f cL-
T’ o '

A

o

,,w

© 2022 Jinja Joint Examinations Board Turn over
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. :::_’m,.ﬁmi - ‘ ’ mtt;\\\) * \
: » CHOOBR ¢ T
: \ i . -
| K A

m"“v Y \
Q"‘ ‘)\ A ’
L b - -
A\\ '\."1\3}:“. o ) - ; é\
§ o S N - - i
J\ h: N tf ) l‘ 3
*; - N - - \§ t
L X N Cle- G ““
~ {\ R \n . t ~ \ "

AN /"'1“ e
3 AR U T oontatis 14.8% carbon, L8% hydrogen ‘N ¢ oxygen and

“
“‘! - h‘.»..‘-.‘..;
W K :\\z. ANNENG .
e Y <
. % T T by marks)
@ Calculate the empiricat .\umu avt L CRERILLLY

o N P oy
O3 i ¥ - - B » )ﬂ N }
:"\ C! \'\:‘7‘“ "1 gteny ;O\:\"‘ ‘.\\.i‘\ f ( } !l # y. - \.\‘

i L

c H O fb

. ) ¥ Ay -y " ) >
Aoy RN IS R 1 SO Y A S
S s
3 -~ i {" PR {
gl::,\ {‘S [‘ii‘\ C\\\:\‘\\ L

o

— £ S i 7 £ # - o -
S mprrtcol Jm\.\w{\ of T o G HO, Po~

() Detenmine the moelecular formula of 1,

e
~
& -

-

™
—

I'd

| {relatve melecular mass of T s 325) (1 % marks)
(C‘f{ Hzo}fﬂi‘\,} =328
y - ‘_!- v, _) ,:f
Q€ + vt o+ Olpy + ANy =5 2L =234
| = I ~4
3\1\\)&:\“[; ((v)\«‘}“[‘q } ‘m‘h *i}'{ L) ,L[ -

(b} \\ hen T was heated, a colourless vapour with a vinegar \mcll Was given
a o
off. Identify T ~ (& mark)

(_L. I C(PC}H [ﬁb/ [01{( l}/nt)( ’gf{}/[@ m) (',;a‘m‘/g{tz,

€ 2002 Jinjfa Joint Examinations Reand Turat sver

e S B A N SRS
- N e 5 S5 e RS 4

AN e S S s

Neagookin . o
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(c) T was dissolved in water and the resultant solution was divided into two

portions.

(i)  To the first portion, was added a few drops of neutral iron(II)

4 : chloride solution. State what was observed and write the equation b

for the reaction. (2 marks)

@mum So[mhm/fwkw oy Sk

g %C‘aj[mi? + F——é;g;;)—'__’%

%
( c/gcoo)sf—'; "

(i) To the second portion was added dilute surphuric acid and mixture

warmed. State what was observed and write the equation for the
l (2 Y2 marks)

14.(a) (i) Write the electronic conﬁguratloln of W (‘/z matk)
20 2Peac 3PPUS 2 oy 28! Gap )y 4,4,

(ii) State the common oxidation states exhibited by chromlum In its

compounds l/{/ (1 mark)
*112. axml +6

Turn over
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(b) An aqueous solution of a chrome alum (K2S04.Cr2(S04)3.24H;0)) was \
prepared and divided into two portions.

In each case state what is observed and write equation(s) for the reactions

that take place when;

(i) . The first portion was reacte odium ¢ Vg;bonate solution.
g@w ﬁv’t cuAJ %QL?Z@A% (2 Y2 marks)

e
2000 W 3y — 2C(oH), +3Q  + O

- it -
A QC‘Q + 2,0, + 3 ﬂQC\/{O/-/; 3¢
i (i) To the second pomon 2 3 drops of sodium hydrox1de solutlon was
added folle\ed by hydrogen peroxide.

7 marks) ’
greeu ppt7 dusolies g & Nellow r_’
CV}:@)C{T Z—C-)H ) CfO;MC\/ CD4> 1//" e
W 2&1{_@#! J ot 3&0 + 4 DY —> CQ%/zO @fggy 0
(c) To the p?u]tant sq @on 13‘%(11) %ai”a%élﬁ_}:Z v

few drops of dllute sihlphurlc g
,yv + ?BN@Z — ac“\dg State wzhat 1.s observed and write equation for the reaction(s) that
70

11,0, + e " takes place (2 % marks)

Y(.“oyo SoLm[nm W Q@ngz
20y [‘;‘;@) 4 ZHZ?r'—’—;“—- C«/lqmp-f— HO =

(1l

i

15.(a) State three factors that can affect solubility of salts, (1% mrks()

Scanned by CamScanner |



() The solubilities of son

U woip (1 mstal sulp 1
‘_ sulphiates are given o the
Lﬁ\h‘ 1\\“\\\\“ ' ‘l

f

é b5"';!“"'1\?\* .\‘M_ul\ilu_\- at 10 in TR T
;\_1;\, SO, 10,9 | -
t..‘u\\‘(h (LN
S8, {0, llH-
BasQy (VI.UU.‘(.\:\ }
() State how the solubility of Sulphates vy,

. - ( "y marks)
r(,{': ? {a_{‘ ,} ooy (\ 4 1 oy
(i;,l\-{ﬂ _”“? s..‘\l i{I;‘nIl{\_) //\\? \_,.\u

P i
lphess cfocro oo
) % }J Koy ¢ MmN é’)ml
; L{)rx;nl {1 / ) ‘Iit-.\\.yu:-mum - il/i\}’}?\/[\:- reS [*‘\, DLy ‘.(‘-f‘,l'/ "/W‘Z.,.

a‘{.i’z'.y{}{'i (D Explain your answer in (i) ?

:vi:}:\%“? p“*\(«:),.. B (.} marks)
Fron l}i‘l‘gz)fm} Ba W: lho. c‘ﬁ)a‘-(t_)cf: c)@,q .f,-;é‘ Jo

‘E; [/\Q {f“’i-’fuﬂmj‘ (.:a'gi'( NS e M) M® ___;’2 L4

Inis Cauna buth lathee GG cvied /\aj-f/’rmém

: EVeay '—’[ e Salls to cdectoan,

‘ [‘;u{“ l{t}f yg.yjmﬂ ENE

N (‘%"&N(&Dﬁb mmé:{ylg ndl,
HWM {u/&w L-.!/H.!r’é;/ﬂ / ) 3

/;1_\ o r-b:c)c,J/' '(l/lc.- (G0 f .'\DL{{J\ (;‘if/:;g(:{‘{_‘ﬁj)gﬂ ;f /j{q (;.//’)“

§

/—'»*!’? Cury  one ‘Jfkf) [3‘1, /;,f.’m-l C.

e

© 002 Hnja foint Exainariony Beard T Tuen srer
ey o re. - SRTORp—— s S
] . ] z e S, ot S A A A A S £
) ] e o : . _
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: . <oluble in ethanol
(c) Lead (II) chloride is sparingly soluble in water and insolu

: : d insoluble in
whereas Lead (IV) chloride readily dissolves in ethanol and 1

: (4 marks)
water. Explain the observation.

Hoom G ' | mmp her a_h ter
fﬁm%’iﬂcﬂw% s A

PI?LW e S /4/1/116 tle dnlom%fo_
Len b—ﬁf\am the %FT) g Pb(,[q_~mf2.

mﬁﬁﬁb@@% PRy

wales i & mere roloy -
Pbdz Y ¢ mor  Lond MP’DWWCp/I/J/L‘/’MO l'/ s
%ﬁs)

16.(a) Statggéﬁﬁ%criﬁgg %mf’c&al elaﬁéafﬁ)m]’.%m

- Eohaldioded b Isolafed” closed Systouo
- Ddﬂamzc /qu(e‘”f’ |

- ablued ad Condtaut ﬁ:,;cfd«;ﬂﬁ

(b) Nitrogen and hydrogen react to form ammonia acco‘rdi.ng to the following

equation. 13
- ‘ -1
(esvlack Iy + Ny ~—— 2NHip - AH = —92KJmol
Sl 0l _ ‘
Y Q\j;z)’b“(, Write;
9 WA (i)  Three industrial optimum conditions used to obtain maximum yield
s

Senels i . 1,2 marks)
_ . 9¢ ( ’ . ,of ammonia. o 35D —L/,I’go aAM (ﬁ{tm-— mé:)
Q¥ 2N f‘Tm Ti w Oé SOUC H/- CL{SFD”SSD (,.})
lron Catalyst -t |
(i) Equations for conversion of ammonia to nitric (V) acid. (3 marks)

y + cHo Vo
bNHs o + 50, 4NO,, + ERO,

(3)

ZNQg] -+ O%S) ___,____.? ZNOJ_@ L
UNG, 5+ ot 2O 4HNG, oy Ty

ok

i Turn over
/ : Q 6522 Jinja Join Examirmrw:(x)Bunrd i~
%NO') ,.;+’ ‘ 2l ’———SI 2:""1\' ‘,"',("“"i,j NQ?J"
i [ PRPEN T : A LE

B et T
% g kot T A et bl e b 6
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¢) When a mixture of nitrapen . i
3 8 mixture of nitrogen and hydrogen in the ratio of 1:3 by volume

ws reacted : IR AN T , St
reacted at 250°, the equilibrium mizture was found to contain 30,57

nitrogen, e
, 2

- ey

tol -

(1 s miacks)

Calculate the;

{1) Molar conccntralion of ammonia

| = ’.,A.-/:f/
- A~ T g
ﬂf%u % BU-R) s WA 2= Al i (/T'? G-467H
o - *3‘%}&’*’2»% OO t+é 3,(,, K g

(i) Equilibrium constant, Kc at 250% for the reaction that takes place.
K‘L‘. = EN&,J” L (1 ¥ marks)

T3

MIM]

17.State what would be observed and write equation for the reaction that would

take place when; 5
(a) Dilute sulphuric acid is added to p um maganate (£F) solution
(2% ?L"?..Lf(.:

(.

%&WM& gdcm) o
Ho

A0} it il WOl Mol 21

P ‘ ,{

(b)A mixture of ethanol and benedicts solutxon is h"atz.é (2 marks)

\fogéw{\/lzf{ecﬂwwg@

H e 1)4 WMt pre > 2,08
i re 3t

-4y f}'{’.z 4 ‘l € '
(20) Hydrogen peroxide is added to acidified ferrous jﬁ‘;' iate solw

te?
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L8

armed with

Araxide 18 W
(d) \qmnus solution of iodine ¢ 'mdy“” hydroxide (2 marks)

propan-2-ol.

)/ ( o0 l/)l'& / Ko{;(

(b CHEH, i@ +NOH
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